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author::L2

B
S SLCA flag
authorgs |->/1]|0|->| TRUE
books, ->0|0|->| TRUE
Bibg, ->[0]0|->| TRUE

Stack Bitmap

(d) Risica={chaptergs}
booksg, ->| 1| 1|->| FALSE
Bibg, ->[ 0/ 0|->| TRUE

Stack

Bitmap

(b)
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B S SLCA flag
bookg, |[-> 1|1|->| TRUE
Bibg -> 0/0|->| TRUE
Stack Bitmap
(e) Rt.non_slca={b°°k&2}
Bibgy -> 0/0|->| FALSE
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(c) 5 3 SLCA flag
chaptergs |-> | 1| 1|-> | TRUE
bookgs» -> | 1| 1|-> | TRUE
Bibg -> | 0| 0/-> | TRUE
Stack Bitmap

(f) Rt: Rt.slca = {Cha pter&s}
Rt.non_slca = { boo k&z}



